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Copy the following on OMR sheel in the space provided.

Any one who has spenl lime in an organization knows thal dysfunclional behaviour
abounds. Conflict is frequently avoided.

(Read these instructions carcfully and understand them before vou starl answering
the question)
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At the right hand lop of this cover-page, Booklet Series is given. Enler it in the OMR
Sheel by blackening the oval.

OMR Sheets where Booklel Series is nol entered will not be evaluated.
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Lach question is followed by four answer choices Le. AL B, Cand 1, Oyt of these vou
have to select the correcl answer for each quesbion and darken (1 space on OMER
sheet with the correct answer.,
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The original copy of the OMR Sheet shall be handed over to the invigilator befare
you leave the examination hall, failing which, you will be liable for disqualification
you can carry the copy with you.
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For rough work, if any, the pages 49 to 52 of the Test Booklet may be used but not on
any parl of the test booklet or OMR sheel,
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The candidates should nol write on OMR Sheet any irrelevant matter, excepl Lhe

specified items of information called for; if he does so, his OMR Sheet will not be
cvaluated.
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Candidates are instructed nol Lo bring calculator / cell phone / any other computing,
device along with them into the examination hall.
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Donot help other candidates as by doing so you may reduce your chances of selection
and gel disqualified.
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Incase of doubt, refer to english version and if there is any small vanation noticed in
3 languages. English version will be considered as final.
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For gquestions 1-5, choose the most effective word tn:l fill the blank to make the sentence
* meaningfully complete.

1) She has an aversion _taking even onion and garlic.
(A) at ) apainst

(C) with to

__acar to be absolutely necessary these days.

. think AB)_regard

(C) agree ; | (D) consider
3) T'haven’t seen you ~ aweek.

(A) from (B) within

(C) for since

4)  The government 1s planning to set ~ family welfare centers for slums in
cities.
(A) in @ up
(C) for (D) another
5) Thetruckwas  the traffic and the policeman asked the driver to move off.
. disturbing (B) hiding -
(C) obviating 9)5 obstructing

For questions 6 - 10, read the following passage carefully and answer the questions
given -below it.

Dance is an art form that generally refers to movement of the hﬂd}r usually rhythmic
and to music, used as a form of expression, social interaction or presented in a spiritual or
performance setting. Gymnastics, figure skating and synchronized swimming are sporis
that incorporate dance, while martial arts Kata are often compared to dances. Motion in
ordinarily manimate objects may also be descnbed as dances (the leaves dance in the wind).

Every dance no matter what style, has something in common. It not only involves
flexibility and body movement, but also physics. If the proper physics is not taken into
consideration injunies may occur. Choreography is the ari of creating dances. The person
who creates (1.e. choreographs) a dance 1s known as the choreographer.
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Dance has certainly been an important part ol ceremony, rituals, r.:elchraljﬂnsl and
entertainment since the birth of the carliest human civilizations. Archeology delivers
trace of dance from prehistoric times such as the 9,000 years old R_m:k Shelters of
Bhimbetka painting in India and l:gyptian tomb painting depicting dancing figures from
circa 3300 BC. |

Once of the earliest structured uses of dances may have been in the performance
and in the telling of myths. Before the production of written languages dance was one of
the methods of passing these stories down from generation to generation.

6) While writing in a poetic mood, the writer may use the word dance to describe the

~ of some object.
(A) movement (B) beauty @ rhythm (D) wvelocity
7)  To avoid being hurt one should consider the of object and its movements
while dancing.
A) fexibility (B) style
@ physics (D) body movement
8) Before the script of writing was produced, dance used tobea  from one
generation to another.
(A) mode of passing information @ mode of passing storncs
(C) mode of sharing experiences (D) mode of narraling events
9) A word in the passage which means the same as hifclessis .
(A) ammate (B) unanimate @ inanimate (D) motionless
10)° An art form in which people move is galled dance.
(A) spintually ‘ rhythmically
(C) expressingly (D) humorously

@ Traditional (B) Formal (C) Innovative (D) Recent
12) Repel
@ Attract (B) Continue (C) Attend (D) Concentrate
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13) Acquit
(A) Explain ﬁ]j’- Release @ Conwvict (D) Excuse

14) Shallow .

(A) High . Deep (C) Hollow (D) Hidden
15) Paucity .

(A) Scarcity (B) Richness @ Plenty (D) Presence

For questions 16 - 20, choose the closest meaning of the given words.
16) Illicit

[llegal (B) Draw HET Diller (D) Postpone
17) Obligue
(A) Straight (B) Parallel (C) Perpendicular @ Slanted

18) Nepotism.
_(AY Tmpartial (B) Neamess @ Favoritism . (D) Query .

19) Foe
(A) Fraud _((B) Enemy ~(C) Friend (D) Fail

20) Imperious
(A) Distant (B) Temper ,Jéej"’.l:ﬂmpﬂ @ Proud
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21) A thief steals a car at 1 p.m. and drives it at 60 kmph on tli,g,.hwﬂy [he theft 15
noticed at 2 p.m. and the police immediately started chasing him on a bike at 80
kmph. When will the police overtake the thiel?

256 GO 2 B0 BOGRERO 1 HOLED EPOBDOD AR (oL 60 8.800 B0l 2.8 BimDP

SESPTHD, TOPERO 2 (oL S FVOBHEHEN DREOEN &t Ml Poop 80

3 £ S508° Bowdd oY tobe Hivakod® b Gotim Tbiad 7
uﬂfq_ﬁaul-{_f.ﬁﬁ{kﬂska :EJJﬁ)rﬁ[}J-ﬂtdzLj;f{;-EI,ﬁu;g.g
;ﬁjglrjjtdlué{ih?{—ﬁ!flﬁ LJF:JF}‘EEI'..";L!I {Lﬁ-" iy L-“-]{,ﬁ.' u.’f__n

et/ Bt
(A) 3.30p.m. (B) 4pm. sp.m. (D) 6p.m.
log /5
22) I-:-Egﬁ =
I | |
(A) mg -4B) J5 (C) logSVs @'E

23) The sides of a rectangular ficld are in the ratio 3 - 4. It the arca of I]H: ﬁltld 15 10,800
sq.m, the cost of fencing the field at the rate of Rs. 10 per meter 15 . (in Rupees)

M%ﬂw&wmﬁm.mﬂ:dwmﬁﬂeﬁﬂmwﬁm
10,800 565659 Sobond, &8 Hrkaths) 10 treabde DM, 8 Puo DR fod SobEoi

D08 P00 T (Hrahd) .
HJEJJI”]?*H'&#'mumu-.?ffl.ﬂﬁ-$3ﬂ-,fFfﬂ.-J.Prd:f_!:l
{JUﬁ’J]-rﬂﬁH&'jﬂ{ﬂ}H%—lJIﬂ}{d

(A) 5600 (8)) 4200 (C) 3500 (D) 6300

24) The area of a rhombus is 384 cm®. The length of one of it diagonals is 32 cm. The
length of the other diagonal is : (in cm)

285 e SO (o) SaeeEin 384 5565 poiSobth, &8 Bt clng, G 32 20 40
©od, Botss Bgin ailns, i) Ho87 (Poth Hobge)

SnF S prrin SIS L1 L1 K G5 8 3T NF L

24 (B) 36 () 18 (D) 48
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25) In the following series, Find out the letters in place ol 7

Mm@ﬁﬂ?wwmﬁm

b7ba 7
e LS G Ll T L Tl I Ly o it
(A) acbe (B) babb (C) bebb aach
26) Pen is to poet as needle is to |

(A) thread tailor (C) button (D) sewing

DpED 508 Homogio Gk, ARDBS Bof) mele® B08 Honogo G0l 7

(A) oo (@) _ges (€) obS (D) it

ne Lt 6riea red ¥y

fr o & (© £ ® Sbr A

27) The angle between minute hand and the hour hand of clock when the ume is 4.20 15

4 tiobw 20 DEVEPOL: SBAMBOB tfobe BueptD, DILEP: Aven) s % Eino D087
N 5= T u.ﬂJrJ.;.:-' e g r_{ﬂ'{.ﬂdﬂ,iﬂl

@m‘ (B) 5° (C) 20° ) 15°

28) Today 15 Monday, after 61 days it will be -
& 5% Msoaedo eavd, 61 §fee sthowd D S e0n 7

(A) Wednesday / motiarto (B3) Thursday / rothasto
(C) Tuesday / svoritastio Saturday / Do
sl o610 F ne W 50T
S (D) oo =17 m S I

29) Find the missing number in the following.
Eob el BLDFowd (7) w08 55908,

LSS sl TS g Jir LS B

P
EX -z ‘ ] 4o
l;- 2] [ ?ﬁ_i‘ 'J [ ] 5]
| 7]
(A" 10 (B) 1| _@.{ Dy &
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30) Light travels fastest thmugh which of the following?

@ Alr (B) Water

(C) Diamond (D) Glass
=08 G0 thooe B6,08 Stform Hoxdnod 7
@ T @ s
& rHEP
S e S deJE:fuﬂL/h‘:ttiﬁ'HLr“
X ) g (© 3 ® o (A)
31) Non stick cooking Utensils are coated with
(A) Polystyrene Teflon
(C) PVC (D) Black paint
Rt Sob Mdden D P8 PRODOL GOLRODT
A) oyt D oas
C) PVC (D) #g danotd
: tetbeSa S I/ Bt
2z St D) s (© g (B) gAML A
32) The rate of evaporation decreases with __ :
(A) increase ol temperature INcrease in h@m[y
(C) increase of surface area increase in wind speed
800 dlu, 8hoe Oko B0 egrids 60T
(A) oaEs DGR (B) 8 axwrice
(C) édose doved) atrbie (D) D Sfo txbhde
T+dﬂﬂ!Jﬂ-—H¢'“I}r{.ﬁLf|!ﬂlJm
suied B JBILeN? 2 (A)
Sl b.dix ) JLIis (O
33) The umt of kinetic energy is same as that of
(A) Momentum (B) Pressure
(C) Force Work
(58848 g, HERmn Fob T D00 D Sokwod T
(A) DS%sso (B) Bxssam
C) opedw B0 _ :
2 ?..Ld::ml.-.{iu"JﬁJJh?Jf
¥ D ! (© ks (B) =7 (A)
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34) In the following figure, the boys who arc athlets and disciplined are indicated by

which number? (The triangle represents girls, the circle athlets, the rectangle boys
and the square disciplined). -

200 DiBNE', Boagn 5P ere BT B Hog), ARONON ? B5HE0 eRDELD, G0 PO,
05 sSsHo EREDGR Hooain SHEHo Bfagho M Do, '

- ﬂﬁ;_,,I’-'.rl,#!c,fr'f..';;z};,&d_l;&_{,_ﬁgﬁifbkfﬂd:}'r;fuﬁdj&u

(L S 2S5 38 iUl IS ool v fudIats)

(A) 6 (B) 10 (C) 1 @:

35) Arrange the given words in the sequence in which they occur in the dictionary and
then choose the correct sequence.

208 a0 Heroid AEHS S506® @O B DB DEoHED Dol
-_él_ﬁ.fﬂ;' L;PWI-:-‘JHIJ.,{-}LIJLTLFHﬁﬂfjﬂlié:uﬁd]ﬁ.”

. QUALIFY 2. QUARTER
3. QUARREL 4.  QUAVER

(A) 1.4.2 3 1.3.2. 4
(C) 1,3,4,2 @l,ml:

36) Abhi was born on March 6, 1993, The same year India’s Independence day was
celebrated on Sunday. On which day was Abhi born?

O 6 SR, 19938 83,0050, 8 HOSEEO LS RNEoSiEH0 sbERto At BHYE o, B
o 6% aa,owed 7 |

@ Saturday / &anto (B) Iriday / dhgaedo
(C) Monday / soanto (D) Sunday / s&arto
-Jﬂuuuﬂ?'-us{f-ﬂi-ﬂ Sl BT g L1l (5110t i £ 19935 A6
AF1 (D) & (0 =% (B) S (A)
LS 15 i8et -7
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37) Aand B are married couple. X and Y are brothers. X 1s the brother of A. How is Y

related to BY
(A) Brother @ Brother-in-law
(C) Cousin (D) None of these
A Soootn B en Danlms mob. X foafo Y e st X, A dios, dswd. Y, B 8
Doy ?
(A) RbSHE (B) o=
(C) =& (D) 2529
S 2 KB Y- SUFAS X SUU I YK g 132020 P BIIA
Lege ©  of © Fou® du &

38) In a cerlain code ‘INACTIVE is written as ‘VITCANIE'. How is COMPUTER
written in the same code?

2% B8 2n “INACTIVE' 0 'VITCANIE’ oo 00, o8 5%6¢° COMPUTER & wes

DT
2y L3S S COMPUTER £, LI VITCANIEY INACTIVE'S? £ /L1
((A) ETUPMOCR (B) UTEPMOCR
(C) PMOCRETU (D) MOCPETUR

39) From the following [our diflerent positions of the same dice, find the number on
the face opposite the lace showing 6.

: @wm&&mmmm.mw ﬁqw%ﬁgmﬂmw
-g‘.,‘f.'LFﬁE;'JL-HLIJLTJLT*JLJ-&#ﬁtuﬁﬁﬁﬁ:L}?hﬁJkgﬁkuguﬁdlﬁn '

(A) 3 (B) 2 (C) 1

RIS -13 (Sct - ) w
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40) Lngland isl related to Atlantic ocean in the same way as Greenland is relaied 1o
Arctic u.:f-t:r.:rﬂn (B) Atlantic ocean
(C)  Antarctic ocean (1) Pacific ocean

ROl B12088 Hoas HBVNA @ VOO0 eRotd DB SolS B0k don
(A o8 s mswsso AB)  oepods o8 dango
(C)  woureE m5s Hswiso (D) SRBE s Hameso
M P ﬂ.:,-l'u;fc,)m..ﬁ?.; A0 £ G el
JOFE  © werl (© UHE B e T (A)

For questions ill—fﬂ; four words have been given out of which three are alike in
some manner, While the fourth one is different. Chaose the odd one.

-gﬁjﬁ?ﬁﬁff -.-!-'Lu‘l';_.._f:' .'li.-"-""q_f;,..!: L';."!:_..E-F':-F_ Jflﬁrl#&rhﬁdf:‘[-ﬂ s2141 :‘:"1"'!"}

41) (A) Metre / fobs @BD Acre / oo
(C) Furlong / $osors D) Mile / Zoen
g (D) S (© £ (B) 7~ (A)
42) @ Tolstoy f endipah A8 Tagore / oorins
(C) Ghalib / mefien (D) Keats /&

& o <6 (O A (B) &t (A
43) Inacertain code, “SWITCH” is written as “TVISDG”, Whi . 28
as "COQFZE" in the same code? ', Which word would be written

& 898 spadl “SWITCH" o "TVISDG" m oy 8D S48 5 e "CQFZE e
ooy 7
Lo el o CQFZE' 347yt 2 TVISDGY "SWITCH" =5 £ 3/ ()

(A} BRAED (B) BARED @ BREAD (D) BRADE

44) IF*MINERAL' is written as “ORSTUVW” and ‘S 'is wri
b : : VUUND 1s written as “"ABCSD™.
then how will *READER" be writlen in the same code?

MINERAL' © "QRSTUVW"” t» 0o, *SOUND’ 0 “ABCSD" o onih, & &5868
'READER "0 580 ositoaia?

*,i 3T READERT 7 20 "ABCSD" SOUND. 1" QRSTUVW"/ MINERAL"
(A) TUDVUT  (B) QDZCDQ  (C) SBFEFS (D)) UTVDTU
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45) Aspirin is chemically which one of the following?

(A) Sodium azide ﬁﬂelylsa!iuyliﬂ acid
() Sodium silicylate (D) Ethyl salicylate
SapahDgorn %ﬁ Ao8 apedds HOT
(A) ébaDbo egh - DRGeRDAE @D
Bodes (D) GPSPOPBS
g SO0N fe VAU 3T ;;"I.,:;.IJ'IEL-{

. o L (D) Ly {C}Hh..ﬁ’{"'tfledl B) XUy (A
46) Fatigue is caused due to the deficiency of |
@ Biotin (B) Calcium

Sodium (D) None of these
wexib Bot) apiddf B0 FiHo Heid Seorbiol T
(A) ®ci»dd ([,B] 520 OO - )
(C) aszaso (D) 8bs® e dre 28U 21
Lty ® £ir (© & ® FLE W
47) Usually, Tsunami waves travel ataspeedof kilometers per hour.

“'.E:.L-}ﬂ..!;ﬂﬁ:r L B Ul Sty stk
(A) 100-200 (B) 200-400 (€) 400-600 600-800

48) What is the approximate speed of earth’s rotation? (in km/hrs)
AN LAY S0 ED (50, . i .

(A) 1510 (B) 1770 | @ 1670 (D) 1870
49) Neptune has atmospherc similar to thatof ______ .
(A) Satumm (B) Uranus @ Jupiter (D) Mars
Bp S e avendiino O sREsBEmRDS HERDO o800 7
&0 (B) oloddn @]} it (D) womdd
S } TFFHJULJﬂ-JﬂH{ﬂ.ﬂF
Gr 67 (© Sy (B) VERRTY

50) What is the difference of time between GMT and IST?
GMT 8, IST & o5, 008 Rbao 8ae don T (Gobdh)
{Uﬁu;’;ﬁ-;{_ﬁ,ﬁ)ﬁ;ﬁmjyu'i [STs 21 GMT

| i
(A) 65 (B) 4 © 43 @) 5;
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51) Electron volt is a unit of

(A) Magnetic force (B) Charge
Energy (D) Potential difference
Do Shen S8 HHRHED 7
(A) ®cHdos oosn "(B) sadaso
(D) 203000 8w
@ 3 T+th.flJJ:;wr,ﬂ|
J}:#  ® §u? © e B =B (A)
52) The weight of 400 gm stone 15
(A) 39N (B) 04N
(C) 0.041N - 3920 N
400 rp&Ee cronethsy) Dol 7
(A) 2.9 &m0 (B) 0.4 &n b
(C) 0.041 Smtori H@ 3920 KR
-rﬁwhfﬁﬁfdﬂl
o £3920 (D) £0041 (C) J£04 (B) S£39 (A)
53) The electromagnetic radiations used . RADAR are
(A) o -rays . Microwaves
(C) ¥-rays (D)) X -rays
wabE ani DL Sobmos DEStReD .
(A) o - Bcemen (B) psids
(C) vy-asmen (D) X - EScoen
e b AL KT

LX) ,_;_.J"'".I' (C) :,ijn.fl (B) LS (@A)

54) Centigrade and Fahren.hen scales give same reading at
ot oot PSS Hinmen Soh oY Sfe 5 &8 Hens 5B dowman?
TmLﬂULf{dﬁJJﬁUJEJJFifLF

ﬂ - 40° -273°
(C) -100° (D) =327
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55) Who is the new BJP president?

(A) Nitin Gadkari Rajnath Singh
(C) Venkaiah Nayudu (D) LK. Advam
grisBah mies Db HRES o fhth 25T
(A) 28BS ridp @ ‘el Dol
Dosa, mealo (D) LK. sgad. o
) Tﬂﬂffﬂiﬂﬂ;khf:ﬂ

. ;}Il.lil...d':-...;li (D) JE‘:}E-J (C) F i (B L{ffﬂi (A)

56) Who is the new Prime Minister of Japan?

(A) Yosho Kama _ Yn:shiku Noda
(C) Yasuo Fukuda (D)) Shinzo Abe
aded Sy S0 DSB8 DS T
(A) Ond v (B) cinass Fo
CE (@) 20868 ¢ H 1002 Lok
L@ @  BAL(© 3727 (B) Wy (A
57) Miss Universe 2012, Oliva Culpo belongs to which of the following countries?
(A) U.K. _ (B) China
@}5 USA. (D) Philipines
2012 Q0% aHmOSE eDee 568 Bob weedé & Beedl S0 T
(A) ol Sofid _(B) g=
a0 e (D) wﬁ'ﬁ
@ ?;_L...El;ﬁ_r:.,b&.rm:i‘” u’wﬁr.‘;l._r;ﬁ:u"mm
JP @ < © & (B) L.i
58) Who is the Director of Satish Dhavan space centre, Srihari Kota?
(A) K.Radha Krishnan ((B)) M.YS. Prasad
(C) Kota Harinarayana {QJ K. Narayana.
§iro SSudFD BTG peiS P dobb FAED ST
(A) B orgS M.Y.S. 505
(C) Swimomporabin 8. apoeaiDim.
_. F;n!.ﬂﬁ*ﬁuwuh:ﬁ;ﬂﬂ’d;d;
b g R1-Bs-£1 (B) o Sl (A
Mat-L (D) St s2f (©
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59) Soujanya walks 14 meters towards west, then turns to her rnght and walks 14 meters
and then tums to her left and walks 10 meters. Again turning to her left she walks

14 meters. What i1s the shortest distance (in meters) between her starting point and
the present position?
R e, 14 fobth DO S HAD, Bthard Eﬁﬁﬂwanh 14 Sodth HEDH Bhans,
8:5 D8 PEEL 8ob 10 bt 605, By 65 b B5ED 800 14 foblh 43D, B
SR80 65 Hio, vobenden rodo wob BRS0S G0t 7
—tn ;ﬁ XKLy nf'u‘f -y 3% K14/ iﬁfﬁﬂ-q—ﬁ K lder Py
Lol ki ne £ e Bl L e 38K 14 e L V1 A

(A) 28 (B) 38 (C) 10 @ 24

60) In a party both fish and meat were served. Some took only fish and some only meat.
There were some vegetarians who did not accept either. The rest took both fish and

meat. Which of the following diagrams correctly reflect this situation?

28 DG lHen Hooaiin SRodEn HFowinao. SY0BS0 5 HnEih B08%RtD. SHosos
08 HR0HO HRHED S0EVRD. S0E0D TR, B8 Botn B B, MHBHS T
en, HrodEn, Goti» B, S0 e H Hhdn e HORBD POBOE BDODH INOO?

Bt EmMorl 24588602l il Lot di
ca::r;rlﬁ.fli.ﬂnf-f:;ﬁ" JWFU{UJJJ,EE.LML der}JfJffuﬁU'
JS6288 2 L6 SRS 1L 1095

~ @ o~ (O
(C) ©O - @%
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61) BRICKS summit 2013 was rccently heldin

(A) Moscow (B) Delhi
(C) Hong Kong (D) Durban
2013 BRICKS agos(j siniiio o wofiol) T
(A) &ndf, . (B) &8
© o O,
TS UWHBiKy P YBRICKS 2013
gis @  FEE (© g (B) FLoA)
62) Who is the Man of the series of recently held Border Gavaskar Trophy 20 137
Ravichandran Ashwin (B) Ravindra Jadcja
(C) ML.S. Dhon (D) Prgyan Ojha
mtlse aolsS o9EE-t5e,5, 2013 (FHE dnd 6b O LOD HHHT
() sosags vag (B) tbog ade
(C) avo.a®. & (D) g bee

?LJ"I_.Hr;ﬁ"::'.l_'_,.f:_f:._JTuﬁmlﬁﬁl}}:’l;ﬂﬂ;’,fgﬂu;h‘lh
L-!'J'ul'z"-r; D) 375l (©) Lkl (BLrigosgd (A

63) The Union Budget 2013-14 estimated a 19 al expenditure of
(A) 15.560 tnlhon rupecs * 16.65 Lr,ilfcm rupces
(C) 18.65 mlhion rupees D) 19.26 tnllion rupees

2013-14 o5 ©FE Ado PEHD DS SO SO T
(A) 1556 B8DoD GrakohHs 16.65 B30aha dRIpaiben

65 BDoha trakaben D) 19.26 hobHa drakalben
/U:] & _Erfﬂﬁjfa?lﬁlﬂhﬂéﬁdj}{:ml}ﬁ

&1t 21665 (B) Lsseft 21556 (A)

2;_”;_{*}19.25 (D) - J..-;,:,CE}!,E.EE (C)
64) Zhuang Zedong, who died recently associated with which of the following?

A) Shuttle Badminton (B) Billiards
Swimming | (D) Table Tennis

SoiBons asol Bmol o8 seidt B08* Howoo 5D GoBaNE T
(A) ©5 endobd (B) ®0adl

((€) msmaoB (D) Be& 8"
”;-F-'-hrr.l...-':LIJ-IT_:-'J'h_j;fJ.E}ﬂ'JjL—'JL;’L;U}LJL

SFE D Jiz © B Pl @)
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65) According to census-2011, what is the lileracy percent among women in Andhra
Pradesh?

2011 Bapgr 858 S50 BoSHOS Slme efmS T80 08T
@ﬁﬂfJilﬁDﬁJ@flﬁﬂ{ﬂ}{lfII:.-EE:J;F['UF{IEH

(A) 67.66 59.74 " (C) 57.56 (D) 63.38
66) Brahmaputra enters India first at -
@ Arunachal pradesh (B) Tripura
(C) Assam ] (D) Meghalaya
R SCE0MRS nin s SnkBnsk O 53800 7
@) somsé 555 AB) 85
- 0) eano (D) Fpmead
| Téi_ .ﬂd‘ uui{' 4‘.;;...,.-'.-_# Bl gl s
JUE ) el (© w7 B) Raglitad (A)
67) The Eastern Ghats and the Western Ghats meet at :
(A) Vindhya Hills B) Sahyadri Hills
(C) Aravali Hills Niligiri Hills

St Sibsioen, HE BEon DL SendsanT

LA) Dot igmen (B) wesg odme
(C) sonse dxsmen boto smes N
@ IE o el el o

UGS A @) UL ©  UBKSole B)  ubighés (A)
68) Indirasagar dam is built on which of the following rivers?

(A) Mahanadi (B) Chambal
@ MNarmada (D) Yamuna
RODCE ssk Bob ould D B0 @ Bhodon?
(A) S5 (BY Sond
@ 565 (D) oS
_ ' ke £ ES S
L4 (D) 47 (C) K ® B2 . (A)
69) When was Reserve Bank of India was established?
oab, ol ab golal» ada) i ARboSnGo ?
. ’ RS S PabST Gy
(A) 1934 @ 1935
(C) 1937 (D)} 1950
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70y Which of the following viruses 1s responsible for Mumps?

(A) Como virus (B3) Elﬂmﬂlhrﬁl‘ﬂﬂ
@ Paramyxo virus (IJ) Botrtis virus
Ao apddf O Bven (156 BYal s:ino’
(A) 5a» 360 . (B) =a»d 360
s@ ) Spopdus® At | (D) HFei0 3o
ﬂ%ﬁr Te b HJ;I’:JJLJ,‘#I:L}J’JLIEEH

Tl D) UmAls © 0 JIAW  (B) Jisrd  (A)

71) Who invented Rabies vaccine?

(A) Gail Borden B) Eeujamin Franklin
(C) Alexander Fleming Louis Pasteur
3% e AU DB BR0GPRRIDT |

(A) Bowd &35 ) Sosfod e

(C) e@kpoth ool aranh Dol T.?.ulf#r'i'ﬁ-‘?hﬂ!“
Ak o Sk o LEre ® ot W

72) Which of the following are known as Prolective IF'oods?

Vitamins (B) Proteins
(C) Mineral salts (D) Carbohydrates
U5 880 Hoegen OO Bo apild’ 30 eoarth 7
@) seovy B, B
(C) Zoddd e (D) Eu-ti'ﬁﬁrétg o
e S PISLVE b { AL,
co M D) Ll (© Frg (B S (A)
73) Quariz is chemically which one of the following? |
(A) Calcium silicate %} Silicon oxide
(C) Sodium sulphate Calcium sulphate
sinranRsore 526 638 Sob e’ AT
(A) =00 bods b0 o
&) @8dado e (D) sepabHo DS

fT_,LJILﬁLtiEpJJ&Ff;EH
i o) iefly ©  ¥UTude (B) L (A
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‘

74) 5 of a certaun number is 64, Half of the number is

4
28 Dopet = 5o 64 Bowd, § HoRS® B D07
' 4
?fﬁgdif:jgl?ﬂﬂ.ﬂg KoL

“ (B) 80 _AC) 16 (D) 32

2
75) 83=7

1 1 |
wu e @ »ol

76) If the side of a square is increased by 25%, then its arca is increased by

5 DROUED alug, fhend) 26% 2008, 0pd Jueno 08 LEHE0 7
S L 3L 8 T blkasw K8 01
LX) 40.5% (B) 55% (C) 25% @5&-25% Ux a5

77)  Ajay sold a cycle for Rs. 680, losing 15%. The cost price of cyele is Rs. _

Baab &8P 630 SndkaHoh 8Ly, 15% Sapf 0dd, & DS 533 Ho D08 ? (Endeandh)
fbrﬂkrgj#{!fg.ﬂiﬁpl'f'aiJ,-;L..fa;.uﬁfﬁﬂfl-ﬂﬂulwI.'E'?E-p;f...-l_flq..i
(A) 782 @ 800 (C) 760 (D) 820

18) HEIE=E:3ﬂndE:E=d:ﬁ,than:E.:C='.l
A:E=2:3ME:E=4:5mﬂﬂtﬂ:En}ﬂﬁ?

-.If.'l'l":-"rﬁ‘.EI{:;HE:E=4:5;:IﬁTE=1T3ﬁ
(A) 2:3:5 (B) 2:4:5 @3:|2;15 (D) 2:12:15
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79) A cube whose two adjacent [aces arc coloured is cut into 64 identical small cubes.
[ low many of these small cubes are not coloured at all?

25 Zoddin dlnt, So e 65 DEeD dorb 3, 64 URDIONR DY DD
sanosnian. add’ epen SorbIabad Jorking oFf) Soi T

{U:)FLHEEZ L L 164l ST 7Y Us p S ind AL
-l:q.-:di;

_(A) 24 36 (C) 48 (D) 60

80) At what time between 5:30 and 6 will the hands of a clock be at nght angles?

(A) 43% minutes past 5 (B) 40 minutes past 5

@ 43;—] minutes past 3 (D) 45 minutes past 5
5:30 S00ain 6 oot o, ai i ﬁuﬂaiﬁn%ﬁ:ﬁsemﬁim GOEDOE T

3
(A) s tiobe 431—1 . (B) s riobe a0 0.

@ 5 5ot *13% 2. (D) s obe 4580

,..LE.L.ﬂ'{,=-:Uq_flj#ﬂfﬂ-ﬁfﬂkﬂﬁé—ﬁnlﬁ:39
3

| cemm——

(ed0fs (B e B A5 W

T
(4545 D) B Es (©

81) As per planning commission of India, which was the fastest growing state dunng
2006 to 2010.

(A) Kerala (B) Bihar @ Gujarat (D) Maharashtr
2006-20100 o, §R0S D HoF00 HEo SBOE Aone BPHE) SoDH 0O DY
(A) Eov () dass (©) wacs (D) wssong

h::.tjj fy};:ﬂé}u&j:ﬁ,ﬂ:—i A’:LF"I-.-‘: Qaﬁlﬂuyui 2006-2010

! ﬁulﬁr (D) =1 f (C) A (B) g (A
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82) Who won the Nobel prize [or his work on photosynthesis?
Melvin Calvin  (B) M.D.Hatch (C) DI Amon (D) F Bumell

Stim @, Dodin Bahd b DO SF88 piudind SeoDd aedH 7
ww (B) MD. &5 (C) Dl es (D) F 38
-l_ﬂ,:f L-,J"?‘-I:JIJ}{LI r-li'..;u':’ Sy

Jteott @ AT © SIS B) uniud  (A)
83) A compound that is quickly absorbed through the walls of the stomach is
(A) Faf (B) Protein @Eugar (D) Alcohol
5 H0ED0 B 5205y (FEodhs 208 087
(A) E%ay, (B) @l 58,0 (D) w0

et decgyngsSoe S Uf

1/ (D) éF © i (B) 4z (A
84) What 1s the smallest of the White Blood Cells?
(A) Eosinophils (I3) Basophils @Limphﬂﬂ}’luﬁ (D) Monocytes
88 0 Srpe clot, 08 O gro 8 7

(A) =RtReden (B) endédden Dodiptn (D) 3rSpew
%ﬁfﬁﬂlﬁ;fuﬁélﬁﬁwf?
S udr S © St B S @A)
85) Which harmone controls the levels of Calcium and Phosphate in the blood and
bone?
(A) Glucagon Parathormone (C) Cortisol (D) Aldosterone
506" Ehoain dEnEs 529000 foain Hrese ) & HBE,S DADOB0N T
(A) cirsropd apoedEing (C) soded B sy

uf-i-.ﬁr.ffrfgﬁi?;i.:.-}':imﬁ?wr WS Lué
1 43T (D) Ju2K (© L3l (B) UE¥E  (A)
E":IE} Chuld marrage Restraint Act was first time introduced in India in the year

wﬁﬁiﬂmﬁmmﬁﬁﬂgmw&m@uﬂW?
Voo i e &L 6 (S S L s
(A) 1955 (B) 1956 @1929 (D) 1976
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87) Lionel Messi is identified with, which of the following?

(A) Swimming . (B) Golf
Foot ball (D) Tenms
Dclrad dofy, B8 aeidd® O Hotiod® (hpod) 500 arpth 7
(A) Rgfpoh ' (B) 6%
Pelend (D) 8fgn
fetbtec U0 LU it 00"
J< D) Jisd (© Jf ®) dig @
88) Which of the following states has decided to observe the year 2013 as Information
Technology Empowerment year?
(A) Madhya Pradesh (Gujarat
(C) Tamilnadu ) Kamnataka
o0 T3 O orgo 2013 HoHEY afdDN Oxed NBeond JosEtomn Metlomad
gROR00 Y
(A) oS, 688 moE
(C) st (D) sosbs
" bt Jebes o @ f o2 2013 Lt LS S s
£t/ ) et © =i B Figes @A)

89) Who is the Pakistan’s caretaker Prime Minister, appointed till new National Assembly
clections to be held in May, 20137

(A) Reham Schan

: Sarfuddin Khan
% Mir Hazar Khan Khoso
) Justice Iftigar Mohammed Chaudhan
i 20136% SrE5 wRod OYE BOTSCDH, PEPS 08 DT, DED Boogm

DODIOODERSE et T
(A) Tnd pasd

(B) QS and

(C) 855 nets oo shs

AB) abb ool b
e Wik 1 i F{S Lt EGFIE 18T Ll L2013

Je A 4 (B) S = (A)
S 22 d R (D) Pubii e (O
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90) Which of the following is a prime number?

91) LCM of 26, 56, 104 and 182 is

26, 56, 104 500000 16820 0.0 D087 L. CMK182,126.56. 104

(A) 748 (B) 1274 @ 728 (D) 456
12.1
T
11 7 13 1~
A) — L - —
A TR 3
5 15
93) T of24=—xI
5
Enﬁ:ﬁafﬁ-l:gx?
T o —
@ (B) © 15 O 5
94) J17161=?
(A) 181 (B) 141 @ 131 ©) 129
95) If the average of 40, 10, 25, 20, 35, x is 25, then the value of x is
40, 10, 25, 20, 35, X © D0 25 Bond X Deod 08T .
S ed Sx? 512545140, 10,25, 20,35, x
(A) 35 20 €5 30 (D) 25
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Questions 96 to 99 : Read the following information carcfully and answer the

questions given below. | |
There is a group of five persons - P, Q, R, S and T. One of them 1s a doctor, onc 15 an

cngineer, one is a professor, one is a manager and one 15 a psychologist. Three of them, F,
R and psychologist prefer tea to coffee and two of them Q and the professor prefer coffee
o tea. The manager, S and P are friends to ene another best two of them prefer coffee to

tea, The doctor 1s R's brother. |
S0 96 08 99 SO : ol VISP MFET SOD, D fof ondmAN D08

m&w.mw;qmmﬁmﬂme.sm
P en inien, 50b a0 agi & Sotf 2HD cngiidetd. cgb, R aint, SHd.

Fezlairdésmaye i Ty L Jit(998%:2lis)

._{r...,h;-_}#’._l_;"i.,-:",{_j_;'l:;-:f'r._fh;ﬂi_£'|L,r.*q;jl_ﬁ-_.?.;f_fnl’ujlégul?,Q.E‘..S

.truljli'/'.ir{ulﬂuﬁunlqgﬂﬁﬁé}{ﬂfﬁ‘_&EMHQ L alIRPYE LAY L

itz sGrr b 30InL U ern L e f30 LIPS Fanelioil

+-1LJHM£FFJ;:J

' 7
96) Who 1s the doctor’ {;%u“f}l']j
ERED i T

(A) O B) T @ p D) S

97) Who 1s the manager?
Db o567 feud &

@_Q (B) P (C) T (D) R

98) Which of the following person, who likes tea but is not a psychologist?  [No Answer

ed® & 5.8 €0 cugptierd, 20 perodiy 50T
# - - '_ ?ﬁ;hﬁ"dfﬂ:’@bg?;.rf#Lkﬁg—fﬁfhﬁu“

(A) T (B) S (C) P (D) Q
99) Who 1s an Engineer? =
moadHith K507 T oI A2
(A) S (®) r ©) Q @ T
24
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100) A student has to obtain 40% of the total marks to pass in the exam, He got 220
marks and failed by 80 marks. The total marks in the exam are

&8 DB 5 DOHE' GAHESRDS A0 SR, 40% Hnten Moo, S 220 Foetien
SmOE), 80 S0y B8NS eBGE0 S Ghss PeousHs 264, & HOLS SnEo Hntinen oY 7
.Ln;.f.,l‘u.:,tt&?zmﬁ,l'ﬂtf.j‘l..:,tﬁmi.,,tuu?lz‘_ﬁi.}yffr“-.;’lh-&'l

?ﬂfwtﬁﬂﬂwFtJnPnr ekt e =t 80
(A) 800 750 i o5 Sgon

q.—-_

(C) 700 (D) 900

. : ey
101) If selling price of an article is 3 of its cost price, the profit/loss in this transaction is

2
&5 S3) alo, 835 Jo 5% Jodh 7 & S0 Ban8, 52 RG0S MO ergl/HY M0

2
OB 7 *fﬂﬁmﬁfguﬁuf:uﬂ'mhri Vaiedies,jdf2 0
2 ut .
(A) ﬁﬁ-i% Loss / 850 / g/l M’EJ%% meit,.n’me;ﬁ:-fg
2
ﬁﬁi% Profit / engio / 5’ (D) 33%% Loss /&80 / o[

102) Satya starts business with Rs. 5,000 and afier 4 months, Subhash joins with Satya as

his partner. After a year, the profit is divided in the ratio 2 - | respectively. What 1s
Subhash’s contribution in the capital? (in Rs.)

Wt R D8, 5,000 Grakobe Aol EoBodii. rentD oo Bthans et o
RGOS grtian. S 55, HOBEOBHD HDS Ry OHHE oo 2 1 Do
& AP D08 Hisped DARH 7 (EndvoHes)
.-;r?Ldl---*LFIJFL..I"IF'.-l-!hl-.ﬂ!;-dl"_i'.'Iﬁ-:ﬁJ}urﬁ.fl‘,ﬂZ;_uinbuﬁ
;fﬂgftfrg}h‘};.fl I;':Th:q.,..ah‘:iz : l:rﬁ‘:-'
(A) 3600 (B) 3700 (©) 3750 (D) 3800
103) “A’ can finish a work in 20 dﬂ:}fﬁ, ‘B’ in 30 days and 'C" in 12 days. ‘A’ and ‘B’
started the work, but are forced to leave afier 5 days. In how many days, ‘C’ alone
- can finish the remaining work? |

BEDDD A, 20 5@, ‘B’, 30 6%wdf oo 'C', 12 5%¢F Hpa Sabtem. ' A Hpain
B’ 8 200 200000 5 e Sthans srobhth 50 500 Sobdo sofon. DHBOS HOD
sobom ‘C' 0 6%wd? Hpo Sabtied ?
'ﬂ-rﬁrfﬁﬂs:m--?t'rrt.};uf::hlLfr'i"u'I*::'nt;..r:u:Jnfrﬁj':ﬂ.uhhﬁunmfri’..{'m
,fa_fpl'rhfu}lifﬁﬂ frf&_ﬂLkﬂl.ﬁthﬁ”luﬁLI

'.-’ jﬂ} 6 (C) 8 (L2 5
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104) "Bread' is related to *wheat” in the same way as 'Brick’ is related 1o

Clay (B) Building (C) Cubopid . (1) Fire
885, (e DHoaofoddtnm, atnd 308 Booofoton 7
gl (B) e9of (C) Oggoiden AD) svow
JH»*—J'IJ’TF%!L)JHLLU#!JNF*-EJ*
ST “ © eM @ FE @

105) There arc four words given in the following. Three of them are alike in some manner
Find out the odd one from the following?

(A) Guitar (B) Sitar [Flute (D) Violin
Sod renth Horen aBwaron. Sl Sunid DG &8 Howogo HOA dow, et

ﬂ‘mm-gﬁ:o_:m CRDR HE%08.
(A) Bexb (B) w5 @ bersi®D -

Lo duie s S Lty et S uE gL L ML it
ol (D) A (© B (B A (A)

106) If GO = 32, SHE = 49, then SOME will be equalto
GO = 32 soocu SHE = 49 sond SOME 208 Hanmio?
-fHLF:L#LJEWHEI-{E=4?niﬂD:JEﬁ
(A) 64 (B) 62 (€) 58 @) s6
107) In the numbers from 100 to 1000, how many times digit 1 comes at the ten's place?
100 206 1000 SCE fo Dogod® Sthe Rod® 1 o HoxBY T
..fLT.J:ﬁy.-Hi’L;r'LT-*-:‘:J}u,,ﬁurﬂ..flm}.a 100
L) 90 (B) 100 (€) 10 (D) 9
108) If October 8, 2013 is Tuesday, then 1st January 2015 will be
8 @5inl, 2013 Sotidartio Bond 1 B850, 2015 HHK0E 7

ffﬂu}:ﬁff’mlﬂf:ﬁ ]r?ﬂﬂjfhﬁ‘fmlﬂjﬁﬂﬁ

(A) Friday / ©garto | -2 (B) Wednesday / engianto /A2
@ Thursday / tHtat5o | 1 A (D) Saturday / #0arto | =,
KLS -13 (Sel - () 26

www.eenadupratibha.net


USER
Oval

USER
Oval


USER
Oval

USER
Oval


USER
Oval

USER
Oval


USER
Oval


www.eenadupratibha.net

109) Based on the given two statements below identify appropnate conclusion which
logneally follows the statements |
alatements
Some kings are queens. All queens are beantitul.

(A) All kings are beautiful

~AB} All queens are kings
) All beautiful are kings

"8 None of these

MR
508 sk craren DREED, SO orreD SO,

(A) owreotidn mc&wﬂ’,z;?';

(B) oeromotidn cearen X
(L), motiors dgensotion swwes -iq":.iil._f_-"u:h‘{:ﬁl;-.'ﬂkuiff_pjuﬁgfi&n
@M' Pl
-uj:rﬂar"'&.ﬁrl?-hﬁ'jrﬂji-f:
) gty Betr (B) St Pl (A)
3 S () Ailtsbeut PP (G

110) Based on the given five figures, marked as 1, 2, 3, 4 and 5 identify appropriatc
answer figure [rom A, B, C and D, which will gcontinue the same serics established

by the five ligures.

Bots cndyS 5 Shiven 1, 2, 3, 4 oo 58 Hoosad 450 A, B, C Sea D efio

SARERRe 08 Hond DineeRg, Db HbdveH ERogym Do,
D.stA, B, CUBISIZ sl £ & 55011,2,3 4@ Jir L & s B 50

_ :iﬂl‘fg,";f::__,{r_u:,r

L.. L. "_1 'ﬁL’

(C) I T (D) : l
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111) Which of the following were granted the Maharatna Status by the Union Government
of India of FFebruary 20137

@ BHEL and GAIL (B) ONGC and GAIL
" ONGC and NTPC (D) NTPC and BHEL
b®e 2013¢° Bog Hedi;0 I8 FoTs0E Pond odS Sobden HOT
@ &.3m35.8.08 SHoat Bond ¢ (B) eaSab deoat dond
(C) &.b.a0 Hoah 058050 (D) oG.8.20.0 Soain &.amS.a.od.
. eWVinde m LA fudd S LS st Sar PSS P L 201350 2
S ogde ®) Koadsi§id
JiiEidssdde ©) sddepsdeidt ©
112) Who is appointed as the first Chief Justice of Meghalaya High court in March,
20137
(A) Justice Sada Shivam Justice T. Meena Kumari
(C) Justice Radha Knshnan (D) Justice Rajesh Kumar Agarwal
s, 20136° Hgroad BN HERS o,OHRREM JBHH DOHIVEOOTRE 7
(A a3 domaso Bl 8. Hometainn
(C) =RR o - (D) aRi oy Biimb eiond
o Jﬁ&&ﬁ%Jﬁ-&i%ﬂé:ﬁj*J@pﬁﬂlﬁﬂ
M duP @) el (A
dl:ﬁ.-bﬁ_,.rﬁuu'“ (D) ul..-""E A= (©
113) When 1s the International Mother Language day 1s celebrated?
A) February 22 (B) February 24
@ February 21 (D) February 28
@oscRBaD Srndyrdp DTG50 W BEHEHE LR
(A) Bade, 22 (B) ®Hose, 24
/@ DEDD, 21 (D) Hose, e bt TSI Wit g
do B (D) a2 (©  Jalu (@) Sl (A)
114) UN secretary General recently commemorated ~ as Malala [h}r
{A) November 05 | (B) November 15
(C) November 20 November 10
adde DE o, HI08 VLS 8568 D 5@ Herer HTOM BBOOTHD T
X)) Hdonb, 05 (B) #soed, 15
(C) 0w, 20 (D)) sows, 10
A b S LS FURL 1)
2710 (D) A7 (©) 715 (B) 275 (A)
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115) Who was the founder of colloquial language movement in Telugu?

(ndugu Rama Murthy (B) Kandukuri Vireshalingam
Chalam (D) Rawi Sastn
BerDEF an SH50E gpAEE SRDa BG0.H D& 7

Bt ceaziong (B) Sotsene Hdaoro

(C) weo (D) sy
GufdwL f fuidedE
rﬂﬁffﬂ,hfj (B) E’u:“'ihﬁﬂr (A)
U ~bdss (D) T
116) The first colour cinema in India is ,
A) ﬁ.!am Ara (B) Raja Harischandra
Kisankanya : (D) Pather Panchali
IRESDH0EE 80 Sotbe DB0 DT
(A) ewo soe (B) ooen oo
@ B0 65, (D) P8 Mo
FRU B (0 P SN (9

J6 A (D) W © usdrel B Wi @)
117) The nght to property was removed through which constitutional Amendment.
SHERELD & oen 0l HElin R0 Sehowed 7
!"I,IJ'FI_.:I# =5 L ﬁ?dﬁ{:ﬁ":ﬁ'i’nf@
(A) 40 (B) 42 (C) 46 44

118) Where is Ramappa temple located?
(A) Kanmnagar Di. Warangal Dt.
(C) Krishna Dt. (D) Adilabad Dt.

+ DPI0R DA ity aiD?
(A) 88005 Ben
(C) Hipoep

e Sl s pas

EFES )

EaATdse @)
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119) The Paithan (Javakwadi) Hydro-electric project completed with the help of Japan i1s

om the nves
(A) Canga @ Codavan (C) Narmmada (1) Cauvery

asah PABaDOE? g Sabodd pped (2abiad) se DE)S D) O S0P GoOT
(A) clods AP eie (C) s (D) sede
~1:" {lj.-l:Jﬁhﬁ{iﬁ"JE*{JJFJJE}I;J%“'ILHLP";JAJ“JE?
Ss1¥ (D) 4/ (C) S (B) ¢ (A

120) What is the increase in the percent of population of India from 2001 to 2011 census?

2011 @angne Ste D0, Ros O aaren D08 T80 D000 T (2001 Barged? DFDRHHED).
i et LA T we 800 e £ (§ 8 21.412001-201 1

(A) 17.19 (B) 16.64 (C) 18.12 @_1?.64

121) Which of the following crops needs maximum water per hectare?
@ Sugar cane (B) Wheat (C) Maize (D) Barley

Bof) anedd 5 Dok, &5 S O Hh 050007

Ientio (B) Ao (C) Awsg (D) e
T?JHQJ:;}JJPJ-&J::.HEJ }gﬂﬁ_'y&ﬁqiﬁ;u
42 (D) & © Urd (B] VERNTN

122) What 15 blue revolution?
(AY Commercial crop production (B) Blue drug production
(') Blue metal production Fish production

D0 Do ol DEned 7
(A} oude, Dobwe LS8 (B) 50 svotbe &858

(C) %o o bsa K@dﬁmé@_ PRV
;I:l,g.;J._-IL.-IL.f.- -rhlﬁl.'rfl-h'-f (A)
.rlrl,sdld: (L) ;mg,J@mJ.L._L_' (C)

123) Indian railways factory - Diesel Component Works (DCW) is located at
(A} Perambur @ Patiala (C) Varanasi (D) Enpurﬂ:m]a

esea J8, SosmetEn - G0 geose Deptian (DCW) 2854 éon T
(A) axSoeEvetd Seeloine (C) ool C )

T..I;ghuk(rﬁdzidgL{,f)?-r_.v.l'_.-'q{.h
e . (D) Gt (C) JU (B) i (A)

RIS - 13 (Set - () 0

www.eenadupratibha.net


USER
Oval

USER
Oval


USER
Oval

USER
Oval


USER
Oval

USER
Oval


USER
Oval

USER
Oval


USER
Oval


www.eenadupratibha.net

124) Justice Varma committee, constituted in December, 2012 to suggest amendments to
Crniminal laws related (o

{A) Terrorism B) Corruption

(C) Domestic Violence @ asexual Violence

Gowb, 2012¢° Hoztn Sadeds e J.S, 56, ol BIosd Biod® D womds Honopod
RStmos Aododon 7

(A) éaferdo (B) eodfrodsso

(C) cfpnrow @ B0 BR0

G Sulsfas enl SR8 L& st S0
l:?l-l-'lﬁljk (D) ,.:_.F'L':M (C) i:ih'-".;-r,i": (B) drf-:—-*n (A)

125) National commission for minonties celebrates Minority Rights Day on which of

the following day?
18 December (B) 19 December
(C) 20 December (D) 21 December
0D gomeod) Binad fsode drte HFERY 09,6 BtHHBOL T
@ Gonb 18 (B) &hoebio
J‘LEI Groed 20 (D) &aonb 21
bl e L5l e G S
A1 (D) 2~ (O 2519 (B) 758 (A)
126) Which of the following countries launched a long-range rocket Unha-3 in December
20127
(A) South Korea @ MNorth Korea
(C) Japan (D) China
Gomb 2012¢° Unha-3 &3 eroli dost 008e50 & B4 patrfionon 7
(A) cdoboare (B) 8600t
AE) ans (D) g
Bebi M SE FiUnha3 L2012, 5
(D) e ©  WLAUE B LIdR ()
RLS - 13 (Set - () H

www.eenadupratibha.net


USER
Oval

USER
Oval


USER
Oval

USER
Oval


USER
Oval

USER
Oval



www.eenadupratibha.net

127) If 12 men or 18 women can do a piece of work in 14 days, how long will 8 men and
|6 women take to finish the work? (in days)

12 Z0o8 yhapen o 18 00 Hen 285 509 14 Siad] dabiiath. 8 M08 Sp5apea ooy
16 S0 Heo 68 HO0 of 5w grg DD T
1Ly S L PE e 8l hsng LSS Lol 6 Lif ot 18 p12))

9 (B) 14 (C) 12 (D) 10

128) ‘A’ can do a piece of work in 8 hours while ‘B’ alone can do it in 12 hours. Both "A
and ‘B’ working together can finish the work in how many hours?

A 28 500 8 tfobes, B 88 D00 12 iobd® Sansgs, A, B e ontin 500 @ 500 oY

tiobds P SRRt T
s E FyissB, :m.;._rfb@%u}fzﬂr#’mifE;,i+rffhtuﬁfafrf_§1n
a Vo A s Lyl S
o 4>
4 w, o |
Fe el on o

129) A tap can fill a tank in 8 hours and another tap can empty it in 16 hours. Il both the
taps are open, the time taken to fill the tank will be ~hours.

28 HOLY &5 40,05 8 Hobdh DOHBE. FE™S DO OP RN 16 ok g ot
B0t DoYORn HERO 800, & LR05 of) ol DOEN0D T

FolifSuini.eElentuie S pnmet ARuFY BS L
) s b fLUFE LI ebdF

(A) 24 ®) 8 @ 16 (D) 10
130) A man riding his bicycle covers 150 meters in 29 seconds. What is hus speed in
kilometer/hour?

a8 5.8 DASD 150 Hobotf Bnoey 25 AFogE BGORE, BB Ao ok oY SFP bR T
ol KT LIS e St s st 1500 P L

(A) 23 (B) 25 (C) 20 21.6
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131) How many tnangles are there in the following figure?
Boti oD Hood O Hebeee SaRon T |

T;,.E..‘.’-ﬂi.;f{ﬁ I.F' S it
(A) 17 (B) 11
{©) 15 (DY 13
132) Haemoglobin : Iron : : Chlorophyll : ?
(A) Cobalt (B) Calcium
@ Magnesium (D) Copper
ARERID0 : 060  : B3GR T
(A) Biend _AB) =9an0
,@/&'ﬁ"ﬁ’“ D) T S s

/K (D) F‘,p ©) <~ @) S (A)

133) Line : Square : : Arc :

(A) Ball @’ Circle (C) Sphere (D) Ring
O : S5800R0 : im0 7
(A) o8 (C) &%o (D) Seabo
| s ST 11 F S
S o W 3 (C) e (B) (A
134) Pituitary * Brain : © Thymus : 7 |
(A) Throat (B) Spinal Cord  (C) Liver (D) Chest
b&%hﬁ;m;:@aﬂ.‘:: T
(A) oo (B) aFsios (C) sBopsn 0
- Y ]| - P AR Lf;ﬁ'l:i
P £ © ifers B F @
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135) Jalivanwala Bagh was in __

(A) Jalandhar (B) Ludhiana (C) Patiala
abahSarerenl D S5G0H¢ GoLH T
p}t} soogd  (B) enpoinie (C} wdairen ey
A/ (D) Jé (© s
136) Qg which occation the slogan ‘Nagpur Chalo’ was raised?
Non cooperation movement (B) Quit India movement
=) Dandi March (D) Jhanda Satyagrah
‘pbigpl 6" of dapdo & Dotigod® atplon?
DO 500 (B) &, modate &0
(C) t5ob &nb (D) mome D tinn )
TU’}J{&J’Q"{I}]""J&J#E
-..:}‘JJJHL;JF'HH (B) I:J-"'jra‘h{j (A)
it S04 (D) BASZY (O
13 10 was elected as the permanent president of the Muslim League in 19087
?} Aga Khan (B) Nawab Sglimn:ﬂlah
Syed Ahmad Khan (D) Syed AmirAb
18085 DoSEgod® Sufobl clug, o248 BciHEm KRS HEoIHDT
BOR FD (B)  sane Hbsoep
(C) #ohb ednd g (D) Rapb e:.-r{:a-E: e ‘
ri. rr-._j'u.f:r.u.nﬂ,}"‘ﬁ_i;’(l"'ljrlﬂ

Fer @ o © Aot B U )

Lala Lajpat Rai

(A) Dadabhai Naoroj
Bal Gangadhar Tilak

(C) Surendranath Bannerj

"o b goaiR” Q) Q5D GDHoDY
{iﬁ} croRgRo PG E

(C) AoDogmd 859

138) Whe authored “Unhappy India™ !
.

eReRDELG grad

(D) ere tiomits 8ol |
Sruf e L ol

Erl), @) GAFLy, (O  Eedl (B) Essddun (A
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139) Who was the president of India when National Emergency was declared in 19757

(A) V.V Gin (B) Neelam Sanjeeva Reddy
@ Fakruddin Ali Ahmed (D) Gyani Zail Singh
1975¢" b ©6,008 BB (25FH)0 BESODBHD FAEE YOS BT
(A) 2.2 80 | . Deoo Hods B

© »9p5e0ems (D) =0 @520k

& W sar E s sin s & 55 411975

AL @ by} o stadE B A @
140) Which of the following events compelled Gandhiji to launch the Civil Disobedience
Rowlatt Act

Movement?
@ Mone of these

(A) Jahanwala Bagh massacre
(C} Chauri Chaura incident

R0 HTSAD DOV iSRG DIoPOSEDS D fobd peom Sintdlon?
(A) 2D0BS smem gnls aSvOI0 FoexS 50

) S0 S Dognka (D) &=y
*c Tﬁ’_'ﬂ.rff.,.;l..&.{f*dljtdr‘ﬂﬂjlm/ﬂfﬁf
elindy, @ thFf;‘,mmm_.y (A)
UG’JJ'( =Ly (D) Szgd.g  (C)

141) Which Article of Indian Constitution forbids Child labour?

PGS ranoiod D ORF Bnsd eresp 00 DAHOD0E T
Wby p 83 LTS Lt

(A) 28 (B) 36 24 (D) 18
142) The tenure of the Rajya Sabha member is
(A) .2 Years (B) Permanent (C) 5 Years @ & Years
oo 8T DED.N DHEDEE0 D087
(A) 2Rcs88men  (B) meido (C) s Hossmen & HoScen
| cednd e f S s 2
Ji6 (D) Jus © S B Jvz (A
143) The term ‘democracy’ is derived from which of the following languagﬂs’f
(A) Greek (B) French (C) German (D) Spanish

‘Gam N’ 83 Hdo D grd) Mood Hordrosason T

/@ & (B) oo (€) g (D) o0k
u:-tfdr.ur,-;u/buﬁ-uf“uifﬂ:"
¥

(D) 2 (© &) @ gty (A
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144) Major constituent of LPG s

(A) Ethane = @ Butanc
(C) Pentanc ) None of these
2. .8, fngp.ore D00 50 dobood T
(A) BB
(€) oS
S ek ) £ (©) F£1 @ £ (A)
145) Which of the following is not an inert gas?
A) Argon - (B) Helium
Bromine (D) Krypton
Aof) apddt Bizeaing SO0 OO0 T
(A) ®pS | (B) fmbano
/@w @) 85 __ 2o e S
ot/ @) Sz (© ' ® LI

46) Two elements X and Y have the same atomic mass but their atomic numbers are 20
and 21 respectively X and Y are
ﬁuﬂaﬁmﬂﬁmﬁaﬁmﬂﬁ:?mﬁmmﬂﬁm&ﬂnmﬁmﬁﬂ%ﬂﬁﬁmmﬂu

Sopaty 21 en wond, X, Y osb dsooenth T
(A) Isotones / ©REEF:5 (B) Isomers / @afsng
@Jﬂﬂhﬂ'ﬁfﬂ:ﬂiﬂ@, (D) [sotopes / @&r§esapen
u?ﬂgl‘ﬂﬂﬂ!lnmﬂ;h# }:Ijﬁﬁ_ﬂ'Jﬂlg‘?@ﬁﬁﬁhﬁ?nlyh’u
UHiE T (D) AT (C) ST @ AT (A
147) Oncology is the study of
(A) Birds @ Cancer
(C) Soil (D) Mammals
someef D00 ©g.00H0 S0 ?
(A) sgpen B =i
(C) =08 (D) &cwmen .
e b LG ST
Hed i thosss (D) 2 (O A ® Jrig  (A)
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148) A train 132 m long passes an clectric pole in 6 seconds. The speed of the train in
kmph 1s

mzhﬁ@ﬁm-ﬁﬂaﬁgmmﬁaﬂ&!@mﬂﬁaﬁnﬁﬁm.aﬂmmmaﬂ
868 oty 7

" np S E -‘*"thu!ﬁ?-%ﬂ'ﬂ'gguﬁﬁﬁﬁ:"ef'ﬁ:uﬁ-ﬁﬁﬁmﬂuef-ﬂ

(A) 80 79.2 (C) 72 (D) 70

149) A certain sum is invested on simple interest. If it becomes three times in 10 years,
what 15 the rate of interest?

?mwm@wwﬁnm.mwuwmw.ﬁ
810 D0 7
quH{.FJFE—r,;‘:?LL.ilgrﬂlfri:fr?-tghﬂdhlﬂﬁf_rﬂ;‘?;yrifd:‘“;ﬂ‘.ﬂ

(A) 25% 20% *@) 22% (D) 18%

150) A sum becomes Rs. 2,916 in 2 years at 8% per annum compound interest. The sum
15 (in Rs.)

._Ea'“'miEJ@JH:i'ﬂqﬁﬁ:laﬂﬂﬁéﬁ@?ﬁﬂﬁmﬂﬂ,ﬂiﬁmﬁnﬂ.ﬂm.ﬂ?
(iRdeahe?)

-Jﬂu"?.ad‘IF,Lﬂt;m:ruz.mﬁ;edbzf-_ﬁ..uﬂ_:uu.,,l};rz,}sﬁf;.g
(A) 2560 (B) 2750 (€C) 2625 @ 2500

151) I'he area ol a rectangle is 12 sq. meters and its length is 3 times that of its width.
What 1s the perimeter of the rectangle? (in meters)

w8 O SEHOH0 A, g0 12 S5 Hobd). v s Sdeh frd dgond 8 By

SHCRN0 CRLEReE OB T (Aobddt)
-Fﬁeﬂ'}hirdf':"m?.-fbfardu.ﬁr J.,ri.ufﬁ-_.ﬁ.::ﬁ;m.;r';r.,lr-‘p,
(A) 14 ~(B) 24 16 (D) 18

152) The total surface area of a cubes 600 cm®. The length of its diagonal is  meters.
28 godEn alug, Hogpgse e sn 600 BSE6Y Modiby. oD BN G Hos?

($otorge)
A EUEHL e K ETE 600501 Bkl
() 103 (B) 1042 LEY 52 (D) %
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.f;. 183y Tartaric acid is the constituent of

(A) Washing powder [B) Plaster of pairs
(C) Bleaching powder @) Baking powder
encpob exipin D0G Sog, gReRin?
ol 255 (B) b s »eb
3 &80k 20ub
~7 (C) gooh b () APRPEE A

,r.!i&..ﬂ: (D) JH#_E;? © JaoJdl ~LE (B) .:Hl;-.-ﬂh (A)

154) Which of the following is strong acid?

A) Citric acid (B) Oxalic acid
@ Nitric acid (D) Acetic acid
Aot amDe DO M BEEL T
(B) =95 esihEn
oedE ez
2 -JFLHE‘HIL};LJ:LEI,?JJ

O tAaSF © AUT @ JFE @A)
155) The National Chemical Laboratory is situated in _

Pune (B) Patna |
(C)

New Delhi (D) Hyderabad
Arod Boosed endPtiod OEE GoB T

(1) e (B) e
(C) ‘:ﬂ {D} wq%glruqdﬁiﬂﬁﬁ

e (D) g (© % (B Ly A
156) Food cans are coated with tin and not with zinc because
(A) Zinc is less reactive than tin

B) Zinc is costlier than tin

@ Zinc has a higher melting point than tin
Zinc 15 more reactive than tin

EHE5) NSO BHEGOS’ HPS GRRD 5D BODHE® SD, dothEol]

(A) o, 8itio Hof] 855 HBJ0ED 505 dolio Hud

(B) o 6iitfo Hoél poPan sl

() @08, 85650 ok ey EPols danot 5DB oo S

D , BiSto Soi) DOVOGH SO Sotibo HOW
e e :,?:JJIU:‘};JJQLI#nu?fu’{J'j

.-:_E,-‘uk}r_uf’..f} (B) ;:_JLFUH::.E,;JJ (A)
.;_J'uuy..:.ufi.: (D) ;*ﬁi’éfd‘ru.'é.ﬁ-iéif (C)
%
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157) The height of a circular cylinder is 14 ¢cm and its curved surface is 704 sq.cm. Then
its volume is : (in cm’)

28 HERsTd) ARDED dlus, o) 14 Ho.fo Hoah 0 DS Bae.o 704 SESY Do
$oiogond a0 0w DOHREO D087 (055 Lot Hongsh)

A B U1 2§78 170456 3s gont 2 G5 1406 31 215182 540 L

(A) 5632 2816 (C) 1408 (D) 9856
158) What is the standard Deviation of the following?

Bof) ool BH0DESOH0 DOB T

10, 20, 30, 40 OF sl it F 1S LW ) 3

(A) 25 (B) 100 ©) 5 (D) 1045

159) Find out the correct number in the place of *?"
£o FBS *7” tfo RDoS® GoBBORD HFS Vow, HOT
5760, 960, 7,48, 16, 8  ~EF 4B S o trarind 130 T L5 9 Jiy ) 5T 0

(A) 240 _1_93 (C) 160 (D) 120

160) Find out the correct fraction in the place of ‘7’
800 FeBe 7" 5o M0’ 0w HFH Pio HOr?
23 4 5 6 -EgLFJE;J,fﬁ'dhLT.{:L;?‘dt'ﬁHJFr;,idiﬁn

7 7 7 7
A T |
(A) 5425 (B) J125 @ 125 () 1255
161) Find out the appropriate term in place of “7"

oD JB& 7" & PD0d® SomDD HTH D) BE% 087
AYD, BVF, DRH, ?, KGL. iéﬁiﬁ;{{,ﬂhlu;jrderT.FJ'?' 0= __..!nlr';_,..r-‘t,f_l.{-.“n
(A) FMI (B) GLJ (C) HLK GM]

162) In the following series find the term in place of *?’
805 c0® F36 17’ &g Dsodt domeds By B08%,03
AZY, BUT, CXW, DWV, ? & Ss8 Ll dni T L1l Jir Ly it
(A) VUE @ EVU (C) VEU D) EVA

RLS -13 (Set - C) e
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163) If DELHI is coded as 73541 and CALCUTTA as 82589662, how can CALICUT be
coded? | .

DELHI & 73541 re 556 3%, CALCUTTA o s2sagsszm 556 J53 CALICU T 8o
596 Sobs?

Ly S SCALICUT Ut /3 /82589662 CALCUTTA 173541/ DELHL/|
(A) 5978213 8251896 (C) 8543691 (D) 5279431

164) Pointing towards Rila, Ravi said, “1 am the only son of her mother’s son”. How 15
Rita related to Rawv1?

Band SRR 6D oven BB, “H 8 B e, HERDHAES HFE HERHAD". Her, 6D
EELEHE08 T

(A) Niece / Soms8tien (B) Mother / 6
(C) Cousin / ga% Aunt / sod
L,I':du.fﬂr;..fﬂi;uuu.ﬂ% r::“ﬁ-; LU":JJIL.: "..F'.Lhﬂiui. HLLJLJ:'*!J)JEJ
et
§1 (D) wd (O Jb (B) Ju @
165) A and B are brothers. C and D are sisters. A's son 15 D's brother. How 1s B related to
o B
A sooato B en deshen. C somato D en Mofsomen, A EEJ:I-EE;E}ET:JI-EE}E [ 8 oo,
B, C & &sogimedis 7
@ Uncle / oo (B) Brother / desehik
~ (C) Father / #od (D) Grand Father / essab,
-+gf?‘;f&:JB-+JH mrffh_yjuﬁw U.JH'DJIIE—UEJHU;HBJJIﬁ
bl (D) st © du ®) Sio@
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166) IT A stands for +, B stands for —, C stands for x, then the value of (10C4) A (4C4)B6
15

AD+om, B0, C0x anad, (10C4) A (4C4)B6 Dess 0087
-Ent 4 F(10CH)A@BCHBE T b/, S E % S2C1 - L2Baste+ 28

(A) 46 (B) 60 @ 50 (D) 56

167) Find the correct number in place of *7°

Bon Dhodf 7’ eS0d® oGS e DoY), HOT
i TJJ-G#"JJL;J(. ..; L; T ..JI.I"'UI:LF I,ﬂ,z W a2

() 233 (B) 213 (C) 208 (D) 223

168) In the following figures, a set of figures carrying certain numbers is given. Assuming

that the numbers in each set follow a similar pattern, find the missing aumber in
place of 7 |

B0tS oS dendf, e Sene wisd 599 ©08en /50,00 DB drpow, & B HeseiD e08e)

om0 &8 erot) HowoLo B GTRADIE™, T AH0EH GOGS DoRD BHMHOS

LT.IFL!ﬁf'uﬂ;..!lr,gﬂ'i’;.:fwnr_fnbflihgéé. :.L;;i:l.lll_ﬁdﬂlJ;.,[ii’:r:J
2 f 4 -éﬁilﬂﬂﬂgi—h

TOIIE O NG}

6 + |
(A) 8 5 (C) 7 (D) 6

169) Find the number of tnangles in the following figure.
ﬁm&gﬁ%ﬂﬂﬂgﬁmﬁé@n? _ﬁ'wjﬁw@hgﬂfJJJ&J:

(A) 19 (B) 23 (©) 21 (D) 10
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170) What is the approximate Muslim population in India? (As per 2011 census)

AoSem ERESEE0S Sl Brpen Kol 80 G0l T
.,q...l-éirtjlﬂ.j;gfrl"hﬁuj?:ﬂﬂh'ﬂﬁ:humﬂtl

(A) 8%- 10% B) 10%- 12%
(C) 13%-15% , (D) 16%- 18%
171) What was the capital of Vishnu Kundins? |
(A} Undavalli (B) Mogalraja puram
(C)) srisailam (D) Denduluru
DE)p BoET0 TrEGER) a7
(A) GodsD (B) Awtfepasptio
{ ::} afe0 (D) Bothamntd
| _L:l-:;:.fﬂ!;':rujﬂ#:#:
1arazr (D) Hf--.,.‘u'f (C) r;,gl_rhdy (R} datagl  (A)
172) Under whose reeling Marco polo visited Motupalli?
(A) Beta Raju F.m:lnlma"i Dewvi
(C) Prola Raju J) Ganapati Deva
S0 oin ool SRETHIE Jnkodd HobaooT
(A) Do EaeSEoEn
(C) foow (D) s SHi
-y nflil:r’i.ff:(:]-uﬂ-:—'ﬁn:ﬁdf
lguj‘f (D) flalsg (C) Jgaa  (B) ke (A)
173)-Who authored Pakudurallu novel? -
(A) Rayaprolu Subba Rao (B} Devulapalli K’l‘lih.}'lﬂ Sastry
(C) Kattamanchi RamaLinga Reddy Ravuri Bharadwaja
W Rl LA A e

~f ;;,I.ur._.ﬂ""' " .IJFHJJEH

S L Ly (B) i dasbls (A)
Ll A (D) ﬁ.&.:ﬁll.h;_f'ﬂr (C)
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174) When did constituent Assembly adopt Indian National Flag?

A) 22" October, 1947 (B) 22 June, 1947
@ 22 July, 1947 (D) 22" January, 1947
geos méab DY, Coan,Off HOD X, SAROODODT
(A) ®5%b 22, 1947 (B) emd 22, 1947
wedl 22, 1947 (D) =580 22, 1947
_}EIJfﬁ{ﬂ;l}FJHLWUL—;PJ

478,22 @O 19481z © 10470222 (B) 1947912 (A)

175) According to Indian constitution, how many kinds of emergencies are there?

gRiE coun.off Deedo Y U5e S0 GAron T
Three / S (B) Two /Both

(C) Four / meentsd (D) Five /o6
LW L ASIE G Lo T4
& (D) e © 1 (B) £ (A

176) What 1s dealt within the Part IV of Indian constitution?
Directive principles of state policy
(B) PFundamental Rights
(C) Citizenship
(D) PFundamental duties

(&) ogovmo odas e (B) Srpus e
(C) . 58,0 (D) Betans HLben
T.;E.Jpﬁpuff',l;f,fﬂfﬁ':
SPE (B) s, L5 WF L (A)
u# '.nij:H (1) = (C)
177) Who was the first chairman of the Planning Cnrijlnissiﬂn?
(A) B.R. Ambedkar (B) K.C.Pant
(C) Chakravarti Jawaharlal Nehru
DEPBS HOFO DI WG HBHD T
(A) 2.6b. sods (B) 2. 908
(C) ©E5g zaiirberd danmp
Tiwfu,tizéig,:..,.fﬁﬁ._ﬁg
edigiz (D) dasik (C) 25l ® Jiuld A
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178) In the following figure, given numbers follow a certain trend row-wisc or column
wise. Find out the missing number (7)
&muﬁmmggmq&mnw.mm@mmﬂwmﬂwﬁﬁﬁm
S0HOMow. DHloSNB® BLDFoS Do, (7) D BHEYOE.

—LE-‘-"-'.JIFPJ:--.,:L*{:JHL:—_-TL*J:HFJMI:.J“;."‘_'._LJ:J-'JE
-;ﬁﬁ-‘ﬁJ-*H-L-I:LT_;J'?':JE;.JIf

©) 4 @) 3

179) In the given figure, numbers follow a similar pattern, find out the missing number
(N

Aok oo Dok, 205 Do, 28 TEFHS FFEdD SRHDMRaDI RD0D LD 0K,

(70 SRniHod.
L.Iij_EJ?'ﬂL&.J!fﬂLEL‘:JGrU:-JPIL JIJI-Jﬂlié_. JI..-"‘:LI;E'”

sl e i
18 27

12 18 30 16 32 40 35\/
\i/ I \{/ I
6 3

?
(A) 18 (B) 6 (C) 12 @ 9

(A) 6

180) In the following series, one number is wrong. Find out the wrong term.

Bots oD FiéF a8 Doz, 6,0 cwsinAcD. B DO, B0 7

5.27. 61, 122, 213, 340, 509
A/ EA VN I IO SR T Iy N 1Y 390 § O]

(A} 61 (B) 5009 @ 27 (D 122

RiS =13 (5et-C) i
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181) Ramaknshna mission was founded by

(A) Rama Krishna Parmahamsa (1B) Sﬁramj Virajananda

(C) Swami Shivananda (D)) Swami Vivekananda

LA RAVEA LY D ApBoEh ?

(A) orsoE HEELIROMD (B) anfo dosabod

C BERBOS niensons

(C) Sngl @ 0 Il wd e

Hgadlr (D) 1S dlr (O 1Sisafle  (B) LALeESL (A)

182) Which of the following Arts got inspiration from Jain religion?

(A) Gandhara ({B)) Mathura (C) Sunga (D) None of these
85 H080 ool Hm oL BT DO 7
(A) moges  ((B))sweos (C) @wors (D) Sfisss
| A LFF fe S Edibne it
S et o) Cr (€ A (B el (A
183) Sisir Kumar Ghosh was the editorof
(A) Anand Bazar Pathrika Amruth Bazar Pathnka
(C) Gana Shakti J) Bartaman Pathrika
DB rxink P08 B HHGDH DO 7
) w0B muns g8 Y s wu s
(L)t D) ausns oo -
{ N 250l f.,f:-ﬂu';:"
6Auls (D) G © Gamib s (B) BAARET (A)
184) The partiion of Bengal was made in 1905 by B
@ Lord Curzon (B) Charles Canning
Lord Chelmsford (D) Charles Hardinge

19055 Hoddsod Somd DEms OSM Jeth 7
/@ g gga  (B) =gt sedoh (C) eo§ a8 (D) =egh Sigoh
| S U905

Felke @ LMo Fle @ oSl @
185) Vascoda Gama belonged to which of the following countries?

(A) ltaly (B) Finland (C) Portugal (D) Poland
VS RER & DI T
(A) awd (B) Bapok datses (D) d¥dch
-?;JJJJJ&HJ“’HMJFu
Hy o Hd @) S1 o (Ax
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186) Who is known as the father of Indian Civil aviation?

@? JR.D Tata (B) Abdul Kalam
(C) Vikram Sarabhai (D) Satish Dhawan
groE o0 DErGoing besdirodoe oth S0l aedaln T
y@ JR.D epem ~(B) eSS
C) 5HES Aoeemon (D) %88 oSS _
o L LT Kiting Pl
g @ dutirss (© (i (B) LT A
187) National Sample Survey Organisation (N550) was established in ¥
Ayl aeobe 50, erPEnS (NSSO) o pbodalod?
eSS OYNSSONF AT s p JF J-
(A) 1950 (B) 1951 (C) 1949 (@) 1952
188) The Tenth Five year plan period started from o
H5D HoSHE, Pemes O Hosstod® Progosndon? Al f S By
(A) 1992 2002 (C) 1997 (D) 2007
189) The Pallavas ruled from . |
(A) Madurma  (B) Tiruchend (C) Tanjore Kanchipuram
Deghen 8, ok DOBoRET
(A) Fod (B) 8c30EnE (C) Somspdd mﬁ@ﬁn
Sl AP U g
|"'J{,'L{|" (D) .rf (C) a8 (B) ;jl.u..i (A)
190) Sri Krishna Devaraya maintained friendly relahons with the 7
(A) British  (B) Dutch (©) Portuguese (D) French
- & 4 Dsosaben DSO8* Jir Howogeen Evaphocntd T
A) 2% (B) &5 - ({:) o /fﬁ; POD
| Tiﬂ'ﬁf;.-'ﬂﬂ.*-ﬁ‘l JLL'JIE#E:ILFf
J) @ S, (© 5 (B SO
191) Indian Classical Dance has been popularised abroad by :
A) Gopi Krishna (B) Uday Shankar
@ Yamini Knshna Murthy (D) Malaika Arora
gRos aiob o8 Dimd! Pt SHoDH RIHH?
(A) 6504 (B) e&tak 088
(C)) amand gy Soaee (D) sods ebioe

TJH:afLJgﬁJﬂ!ijﬂﬁlﬂiPlﬂ
il @ dreSE © Pow ® el w
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192) The most common crime mentioned in Rigveda was
- (A) Catle-Lifting (B) Kidnapping  (C) Murder (D) Rape
ST S508F ©i8,088 Aeponmons Atom S50 HO?

BLHeR oBDOSEo (B) 8ayo
(L) =g, (D) swsseforio_apsf s e it and
Ss9erm (D) J © JH @ WEr @A)

193) Tipu Sultan was the ruler of :

(A) Madurai  (B) Vijayanagar (C) Hyderabad @M}rsm:
35, oeni B0 DOMDoTE7? |

—

(A) &ogog (B) Deanhses (C) gropend g
BULFVU L ¢
£ D) AT (© (B) Jisa ()

194) Tulasidas, the author of Ramcharit manas, was a contemporary of which of the
following rulers?

@A) Akbar  (B) Shajghan  (C) Humayun (D) Sher Shah Suri

REOLOB HRED GOo0E Weliornn Bobared® oon Heossdisi 7
/@n@ (B) apess (C) soswoins (D) &5 2p b
7 AL LS e Lt Az
st 2 (D) ik (C) UL  (B) Al
195) Hazara Ramaswamy, Vitala swamy temples were built by
A) Prataparudra Deva (B) Rawi Varma - |
sn Knshna Devaraya (D) Chattrapati Shivaj
B CRERRD, SIEONLD BO0TRED SO S D,0SHEean 7
(A) Herdthe S (B) coag, -1
(C) & g5 dsovaves (D) 5808 awe

b L2 L st 0 e i b
LL"‘#'I.IH {DLIJ’EJHIJF (C) dji_l..;jﬂj.r (B) '!JIJJJTE{ {.ﬁ.'_]
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196) Who was the first Indian to be selected to the Bn sh Parliament?

(A) Lala Lajpat Rai (B) Bipin Chandrapal
Dadabhai Naoroj (D) GK. Gokhale

260 egFootiHr dobs Saboyg AokBnse epBoindn?

(A) emepoand cvob (B) 2bS Soged

GK. &8
e ol T e S0 3.5 %ELLIJLHJ e i.i[f'uﬂ -“ﬂ‘h’ﬁ‘

¥ira @ Euddui (© Jivget  (B) £ 1,ad i &)
197) Who among the following drafted the resolution of fundamental rights for the Karachi
session of Congress.an 19317

@A) Sardar Patel (B) Dr. B.R. Ambedkar
(C) Jawaharlal Nehru (D) Dr. Rajendra Prasad
193168 52070 G0, BovH HERSIES DGIVE ety Bon S5y HVODERD Baw RS
aRdatin T
ﬁ b HES (B) w285 sodsb
(C) asmbeord Bgne (D) @ osdotsHded

el S j P eI G L RS L

w3 @ ediaz ©@ Sealgfs @ Sosdsy (A

198) Who was the founder of “Chola Dynasty™ | ‘
(A) Rajendra-l (B) Dantidurg (C) Balban Vijayalaya

ﬁin‘mmg#gbom madaidn T

(A) odog-1 (B) Gosmd (C) erey® ) ?ﬁ%uﬂm
Yy @) A @  Sofs ® Jnusn @&
199) Who brought Islam first time to India” .
(A) Khaliis  (B) Slaverulers ((C) Arabs (D) Turks
SpoD PpEEtoDS Sncdirom SRsAob o7
(A) =P (B) enddd oot @ eaes (D) wotoen
' -&IH.-U“' J,';qr:.--.--"uf-'!:!F"JI-rrrﬂ-'I

' L) 70 gl il (B - dw
200) The title of *Viceroy’ was added to the office of the Governor General of India for

the first ime in _ . 3 :

B skt Zocsieooe Baron 6F HoeY DG 88 Deb
——— - -lﬂfﬂurf%L...-*..r.-ﬁif"LJHIr"{ﬁiiJﬁiafJFrﬂ
(A) 1848 1858 (C) 1856 (D) 1862

+4++
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